
�
 DJS161  ����-��1.6MM/18V

1 / 1%�



�
 DJS161  ����-��1.6MM/18V

)F�� 2017/11/09

%� 1 / 2

�T6��M�j

���
 ���
 �� �� �� N/O 
�1 
�2 �	

001 266091-3 c+4X50      F/4340CT,50CT 4

002 922147-9 H.S.H.c+ M4X25 1

003 961011-9 ZD E-4 1

004 346131-4 0 1

005 343480-0 $Q4 L 1

006 343481-8 _� 1

007 792533-6 [g9 1

009 251951-2 ,-c+ M5X10 2

010 261065-9 0 1

011 253338-4 0 1

012 792534-4 ���           F/JS1660 1

013 253338-4 0 1

014 261065-9 0 1

015 267010-2 �_D 5 1

016 267010-2 �_D 5 1

017 256155-1 A 5             F/JR3010 1

018 256155-1 A 5             F/JR3010 1

019 331329-6 *a 1

020 423118-4 PUK 1

021 140130-6 :fL 1

022 325727-4 ��. 1

023 252083-8 ,-X(c;M4-7 1

024 266085-8 c+M6X10        F/LF1000 1

025 256733-7 A7 1

026 961012-7 <
1 E-6 1

027 210023-2 O= 627DDW 1

028 253133-2 k!/ 7 1

029 331273-7 �a 1

030 210067-2 IRf@ 6000ZZ 1

031 325716-9 SEALING SCREW 1

032 227716-4 c\]>34 1

033 325715-1 CRANK SHAFT 1

034 210033-9 f@ 696ZZ 1

035 442150-9 GASKET 1

036 140131-4 GEAR HOUSING COMPLETE 1

037 619249-7 '"� 1

038 421977-0 e&D 13 1

039 631714-6 LEDG9          F/BGA402 1

040 638627-2 � d�� 1

041 638448-2 WC�9         F/BGA402 1

042 815T27-5 DJS161 NAME PLATE 1

043 265995-6 VHc+ 4X18 5

044 419566-3 ��8           F/GA4030 1

045 187839-9 ���` 1

    C10 263005-3 e&A 6 2

    D10 INC. 51

046 419519-2 ��b           F/BGA402 1

047 650579-7 �
��         F/BGA402 1



�
 DJS161  ����-��1.6MM/18V

)F�� 2017/11/09

%� 2 / 2

�T6��M�j

���
 ���
 �� �� �� N/O 
�1 
�2 �	

048 424026-2 SB_          C/424476-1 1

049 620243-4 E�7 1

050 644808-8 
Y?� 1

051 187839-9 ���` 1

    C10 263005-3 e&A 6 2

    D10 INC. 45

052 191971-3 WCCB-430 1

053 643929-3 WC�J 2

054 419518-4 WCJ�^       F/BGA402 2

A01 762013-6 N�� 1

A02 783201-2 ,-h	 3 1

A03D ***DC18RC 3
7C/195582-6 1 *

A03-1D ***DC18RC 3
7C/195582-6 < 1

A04D 196789-7 i
Y BL1830 2 *

A04-1D 196789-7 i
Y BL1830 O 2 *

A04-2D 196974-2 i
Y BL1830 < 2 *

A04-3D 197604-8 i
Y 5#0 BL1830B < 2

A05D 450128-8 
Y�2J 1

A06D 141478-9 PLASTIC CASE COMPLETE 1

    C10 163455-1 �8 2


